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Solving Linear Inequalities

1) Given the set s—{2,4 -3, 1}, use substitution to determine which of the elements of S satisfy
each of the following inequalities.

1) 2x+5<10
4x—2>-14
—2X+1>—7
—-3x+1=0

5)

2) Solve the inequality. Graph the solution on the real number line. Write the solution in
interval notation.

1) 2x<10 2) 3x>24

3) -5x>30 4) —4x<40

5) 2x-5>-11 6) 3x+4<-17
7) 8-3x>20 8) 10-x>0
9) 4x-11<7x+4 10) 5-9x<3x-7
11)10x-7>2x+6 12) 8-4x<6-5x

13)5-8x>4x+1 14) x+10>8x-9

15) -3(4+5x) < -2(7-X) 16) —4(3-2x) < —(x+20)
18) 2(x+1)>-1(10-x)
19) -10<3x+2<8 20) -4<3-7x<17

21) -9<2x-3<13 22) -19<5-4x<-3

23) 3 <age <t 24) 3> 5> -5

Mathelpers.com Grade 9



file:///H:/PERSONAL%20DOCUMENTS/ONGOING%20PROJECTS/0%20FEBRUARY%202022/1.1%20Book%20Website%20Project/Set%201%20Books/Group%20A/Grade%202%20Term%201/Mathelpers.com

